Signature of the invigilator Marks obtained

TRIPURA MATHEMATICAL SOCIETY :I
Aptitude Test in Mathematics -2017
sifere et #{drH -2017

(For the Students studying in Class V) :|

(P19 (WATS 2A09® QTA-Bawd )

Full Marks : 60 Time: 2 hours
Roll no. of the candldate T =R @) |

Read the following instructions carefully and do accordingly. (ﬁﬁﬁlﬁ@' WW AT IR CHFAICH (FN)
i) Group-A contains 22 questions with 44 marks and Group-B contains 4 questions with 16 marks
(F-Reme 22 o 44 TER @ - 4% &t 16 799 TER) ‘
ii) All the questions are compulsory (7521 oTea Te o1 WRhIF) .
iii) Write the answer of each tiuestiun in the specified space (eﬁﬁmﬁwﬁﬁm =) '
iv) Papers of rough work are to be attached with answer sheet (T Freeie Tea otas A o e we)
Group - A (2x22=44 Marks) $-fqet (2x22=44 7%3)

1. Fill in the gaps (*[F7ZR 3¢ ) ¢ 2x10=20

i) The smallest prime number which divides the greatest five digit number is '

#ift SCF IR TRYI @ FRoR ere A a1 KOy O 21 ------------

ii) The place value of 5 in the iumber 15379 is

15379 FRAIMBTS 5 43 ZIT FA T === -

‘iii) The number to be added to the one-fourth ofthe sum of 2417 and 2483 to-make the total 5000 is

24176 2483 mmﬁamr@ﬁwm R It A 1T 5000 2031 25T -

iv) The numberof square tiles of length 20 cm, required to cover the floor of a house of 8m length and 6m wide
are

@ TEE N o 813 e 217 6 wite 206 e RiR 35w, woef %ﬁmmm,@m ...............

v) The adjacent figure is made up of seven equal square stamps with lcm side. : i

B e |

The perimeter of the figure is
sipe! oafb FiTe el <+fer 55 9=l (o IR &fefs w1 it
et «ifai = -

vi) Ifthe sum of three consecutive natural numbers is 60, then the largest number among them will be divisible
‘by the smallest prime number

D e R iceii 7R 60 20, 0t 726w Rl g™ G TR Wﬁ—m@m e
vii) The number of two digit prime numbers having 3 in their unit place is _ =.
G I 3 WWﬂﬁwﬁﬁﬁﬁﬁmwm@iﬁwm --------------- @

viii) A bean plant grows one inch in every three days. The length of the bean plant increased in September, 20 l?wﬂl
be

3f5 53 9z e foafta @3 2% I 20e1, 367 5D 2017 93 GUFOEI T TORS o171 ZA ©f Fo ------------
ix) A businessman sold 909 kg rice from one ton bag of rice. The total rice remains in the bag is . '
@ IR S6A 51T st (U0 909 (3% bet RS et | uinilbre wRi<iE Siters wAfssiet 2ot -----------

x) In aclock, it is 30 min 30 sec to 3 PM. Then time of the clock is

f5 SfETe 3 B ArTe 30 RRE 30 Gies A1) 1o @ JfYTe 7y o -~




5. | 2. Each of the foliowmg questions has four alternative answers, among which only one is correct.
' Choose the correct answer and write the serial number in the specified box {:[ 1 mark will be -
= deducted for each wrong answer. 2
fesa efef e o1afs vtz fieg Sug mmmwmaﬁm@mmmﬁaﬁ%@mmw
St e AT ] B efef g Seram vy 5 wwa wiHtama) 2x12=24
(%

i) Aboy reads = th part of the total number of pages of a book. The book will be completed if he reads
80 pages more of that book. Total number of pages of the book is

| o < T <o AR GG B 2 SR 0BT 1 T ST 80 ofS1 10, WG O 7 92 9t 2
@fﬁ?ﬂﬁ*’m’wﬁ@ -
© A.100 B.200° - ' 250 D. 300

u) There is 112 litre oil in a vessel. -3 th part of this oil is kept in another vessel. The same oil in litre to
'be added in the second vessel for making it 100 litre, is -

112%@1@%%2@%@% = wwwmﬁmwmrﬁ@amaﬂﬁmwﬁm
fifEre a0 100 Bo@ 23, MEGH :

A. 49 B. 50 C.51 D. 60

iii) The smallest number which is multiplied with 300 to make a perfect square is
{ 300 & (@ FEow AT M @ T, 937 7 2507471 77, ©f 27

' A.S B.4 C.3 D.2

iv) The half of a rectangular field is a square. The area of the rectangular field is 200 sq. metre. The
perimeter of the square field is

G WSS WA WL G 90w | wrresra ofda cvawee 200 255 | 35ifeR crafy AR =
- A30m (@ B. 40 m (%) C.50m (f) D. 60 m ()

gaEEar—

v) Abus started from Agartala at 9.30 AM and reached Sabrum at 4.15 PM. If the bus stopped in the road

at different 15 places takmg 1.30 minutes per stoppage then the total tlme taken by the bus in its running
condition is :

(D A SIS (AT HTT 951 30 RS 2w @R Bpler 451 15 RS s cﬂtalwﬁWWm 15%
R 2T 1.30 G 02 e, Srzrar i @ 7w vomie fie ot o —
A. 6 hrs. (T%1) B. 6 hrs (¥51) 22 min ()

C. 6 hrs. (3%1) 22.30 (f) D. 7 hrs. (3%51) 10 min ()

; vi) The number of five rupees notes are obtained from 1 two thousand note, 9 one thousand notes and 20
{ fifty rupees notes are

B 7R e G115, 9 G 9= 21ema Betdd (i 9= 20 B 2426t Bivd RIS ~{7A0S T0h Al B i
S AN ©f ZF7
A. 1200 B. 2000 C. 2300 D. 2400

vii) A car travels 50 miles in an hour and an aeroplane travels 10 miles in a minute. If the aeroplane travels
- 540-miles, then the distance covered by the car in that time is

7 a1f 2f T 50 EeT e @l Sroterrer 2 RS 10 33 T | (@ T SrererzE 540:#?@::1:1
NS o1 7w 7@ v A, ot = 2
A.30mile (&)  B.40 mile (M)  C. 42 miles (nr‘éa) D. 45 miles (srr‘a‘ﬁ)
viii) If a number subtracted from the half Of_s_ th part of 24 to make it zero, then the number is
24 @1 _wwm@cmwﬁmﬂwﬁmwﬁwm ©f 7e
A. 10 B. 12 C. 14 D. 16

ix) The tree A is Imetre tall. Tree B is 50 centimetre taller than the tree A. Tree C is 5 centimetre shorter
_than the tree A. Then the total height of the tallest and shortest tree in centimetre is

'Aﬁrﬁﬁlﬁ‘ﬁ‘ﬁﬂ’i‘llB%AWCWSO@WWICWAWWSMWWWIWW
R FEON AR 704 (G Teve! BRI 2
A o T te SRl ol : DZ?S

e T —

x) 2.th part ofacylinder is filled in by oil and water. Ram droppcd a measuring tape inside it.- L t,h ofthe tape is
immersed in water. If 5cm of tape is immersed in water, then the total length of the tape (in cm)is* .

B = émwﬁmﬁms%wwmwﬁmmﬁmﬁﬁmmwﬁmﬁ%m‘
| T B0 AT | T e SRt e witet B Qe orate reifta o, (ifRTs) 2=
S T B. 30 C.20 D.5




xi) Ina school 22 glasses of milk are filled in from a pot for distribution to the students. If each g’!assbf milk had a
volume of 250 ml and two students did not take milk the total volume of milk consumed by students in litre, is

w’fﬁw 22 5 2T Gih 7l (0F G4 mmﬁmqummwm%ﬁ?mzsoﬁ%%ﬁmawm
mﬁt@wwﬁamﬁ:mmﬁﬁwwﬁww e, O 71
A 55 B.5 C.45 D.4
xii) Two parallel lines are in the same plane. Then the lines
76 TGRS (I G2 AT ACACR | SR 1 56
A. intersect exactly at one point (o= 3o famqrs o= ¥03)
B. are perpendicular to each other (7T eTFeId 9ITF)
C. always keep the same distance from each other (9<f6 Sl (AT 3 A AN Y )
D. intersect only at two points (T i fReqre (2h I)

Group - B (16 marks) ‘¥’ =19 (16 799)

3. In the adjacent square ABCD, AB =2 em.

{446} 270%g ABCD @7, AB =2 Gl % Béiopn
i) How many triangles are in the square ABCD? 3503 ABCD (% b faes og ? N

A‘ I
Ans (T€) 2 C
ii) How many squares are in the figure ABCD? Write their name. D D’ C
ABCD ot woafer 9ftwa \ite 7 SItiE 19 (514 |
Ans (W) g
iii) Write the areas of each squares. &{COIH 90T (a1 (41| S 1H(1+1)H
Ans (8&3) 2
4. The step by step solution of a problem is given below. State the problem in minimum number of
words. ;
aﬁ%w@pﬁsmwﬂtw utmﬁ%cmamwmwwwwwmﬁaﬁwl 4

In a bag. o Ky 750 gm fruits can be kept. S 2ol T A1 A 8 G 750 o1 |

GBS (IGF T TR 8 (Ffer 750 &AM + 2
= 4 3% 375 4 = 4.375 e |
rotfBa AT el Tirgd T ©f el Tg 1w 4Hb

1
Dates arc képt in the bag = 8 kg 750 gm + 2 |
!
l
I
|
| & 437.50 BI=#l |
|
I
|
I
|

=4 kg 375 gm=4.375 kg
If the remaining part of the bag are filled in by grapes

then the cosi of grapes are Rs. 437.50

Then the cost of grapes per kg = 133?7550 437,50
_43750 1000 199 rupees. L S 4.375
100 43?5 4_375{] 1000 _ -
= 100 o |
Ans (@@q) e 7100 4375




ety ————

5. Marks obtained by top three students in the Annual Examination are given in the following table :

3 <13 o fovem wrare 792 s ove sifeelm meal 2@

Subject (FFEn Bengali English |Mathematics| Science Social Study |Work Edn.
st | @ | @ | @@ | Gem | cemfen | (@)
Q) - 100 100 100 100 100 50
Ahana (SZ) 80 76 98 96 80 40
Riana (Fa) 81 84 93 92 85 46
Jiana (&) 83 87 90 80 90 45

The student who will score highest marks in each subject will get a gold medal; the student who will score
highest marks in Mathematics and science, will get a silver medal and the student who will score highest
marks in Bengali, English and Social studies, will get a bronze medal.

@ 28 57 R AR 75 A G G (NS, % @ Res (1 At 7799 #id O Feild (rem 9R T,
S @ WG [{iE (@ TR 959 AE G @1§ (0o A |

Write down the answers to the questions written below (RT5 (@ eief Sty ©ia Tedt (71d) ¢ 1+1+2
a) Who will get the bronze medal ? 18 (ITT (F AT ?

Ans (B&9)2

b) Who will get the silver medal ? AR (LS (F LI ?

Ans (B&9)3

¢) Who will get the Gold medal ? GIIHIS (TS (F A3 ?

Ans (T€3) 2

6. a) The following numbers are written according to some rule. Following that write the next two
numbers.

firna Tzt off @3 Fa @ otz iR e weprae +°e o3l w2 w4t @ | 1+1

L) -2-‘) 1 i: % 2
3 3 2 3

b) What will be the angles in degrees of the clock with two hands when

i) The hour hand in 3 marked and minute hand in 9 marked spots.

if) The hour hand in 12 marked and minute hand in 3 marked spots. A
2! RS e wfb =5 w2a ey id we & zra v 1+1
i) 517 F5t 3 @7 97 93} WHa S0 9 @3 9 AT 2

ii) O 1 12 @7 R @R sz 3! 3 @z ww AR 2

Ans (B) : i)

ii)




